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Note: This question paper contains two parts A and B.

Part A is cctnrpLrlsor)/\r,hich carries 25 rrarks. Ansrver ail c1 uestions in Part A. Parl B

cttrrsists o1',i Llnits. Ansi,r'er an\, one lirll cluestion fl-onr each urrit. Each qLrestiotr carries

l0 nrarlis and ntal'have a, b. c as sub questiot-ts.

PAII'I . A
(25 Marks)

I .a) Deflne Elevation angle and u,rite atr expression for it. 12)
b) List dilfbrent bands along vi,ith fi'equency range for satellite comntunications. t3]
c) An arrplifier has a quoted noise figure of 2.5 dB. What is its equivalent noise

telrperature.
d) A geographic area subtends an angle ol approxirratell'

seostationarr trrbit. \\ ltat dirtlcnsitrn lttust a rulleetor alltelllls
this area ri'ith a circular beanr 3o in dianleter at I I 'GHz.

e) \\iliat is nrean b-r,rrirltiple access',)

t) Corrpare l-DN4A and Irl)N4 A

g) \\ihal are the diff'erent signals transrnitted b1'CI'S satellitesl
h) \!'hat are the f'eatures of G I']S'1

i) List tl-re i-eatr:res olpure ALOHA.
l) I.ist the lcrrrrrcs o[:lottcd Al UHA
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3.a) A lorv earrh ol'bit satellrte is at an altitude of 2501<m abore tlte eartlt^s surface ,{ssunting

earth's diameter is approriuratel;- 12.756 28lirn. calculate the period o1'' t'ihen tlre orbit is

PART - B

2.a) Discuss the ef'fects ol sun arrd rrroon on satellite cottttlunicatirrtl.
[) lllustrate geostatiorrar'1' transfer orbit arrd AKM approach to geostationarv

neat diagratr.

circular. Also find the Iinear velocitl'olthe satellite along its orbit.

b) \\'rite short notes on solar eclipse.

(50 Marks)

orbit usine a

[5+5]

[5+s]

,1 a) Lxplain the operation ol'a -lT&C 
S),-Steur using relevant block diagratr

b) An earth slatiop has a cl ianteter of 30rr. has an overall elficiencr tll'6t)'li, arrd is used tcl

receive a signal af 4150N1 Ilz. At this liequencr the s\'stettt ttr)ise telxpsrature is 79K

ri,hep the antenna points at tlrc satellite at an elevaLion arrgle ol 28". What is the GiT

under these conditio6s'l If heavv rain causes the rise in s-\'str'lll rroise terlrperature to [18K.

what is the ncrv C/ f valtre?
OR

f s+51



5.a) Erplain the role of a transponder in satellite cotntnr.tnication. Also

diagram of a doLrble conversior.r rransponder ibr l4111 GHz band.

b) Briel'l1' discLrss the Iink budget.

draw the simplified

6. Expiaip the princ,iple of CDN4A and s'pread silL:clruin transtnissiotr and reception. [10]
OR

l.a) Ass,;6e that a'[Dl\,{A svstenr Llses a l25ps frame tirrtc l-ind the nutrber o1'channels that

each earilr station calt sencl u,irltin the1-DMr\ lrattte trhert i) No tirne is lost in overheads.

prcamble s ii) A 5[s prearlble is addcd at the begirrning of' each earth stations

transprission. iii) A 51-Ls clelal preanrble is added to each earth stations transmission anci

2 pts guard barrd is allclrr.cd betiveen er erv trltllsttli:sit'tt'
tr) Erplain the principle of Irt)\4A.

8.a) l)rarv the hlock diagrant ttla ty,pical earth slation transt.nitler alld cxplain.

b) Explairr different po\\'e r test methods.
OR

9. DiscLtss in detailditferent GPS.

10. Explairr hor,i,rnessage is transmilted b1'TDMA.
OR

I l.a) Briefll cliscLtss the satellite pachet s'nvitches.

h r I llborrtc Plclie 1 re5e I'\ atioll.
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